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HISTORY - 11

3faew - 11

1.

By which of the following name the
provinces of the Gupta empire were
known ?

(A) Vishaya

(B) Bhukti

(C) Kshetra

(D) Pradesha

In the Gupta and post-Gupta society a
community known as ‘Kayastha’ was also
called by the following names :

(8)  Varnasarhkara

(b) Pustapala

()  BhoJak

(d) Akshapatalika

Select the correct answer :

(A) (a) and (b)

(B) (b) and (c)

(©)  (a) and (q)

(D) (b) and (d)

By which of the following name the
Council of Ministers under Shivaji was
called ?

(A) Saptavidwan

(B) Ashtapradhan

(C) Navaratna

(D) Dash-prabuddha

2.

3.

fefafes & 9 fFe ™ ¥ 79 99T ¥
1= ST 9 9 2

(A) oo
(B) yfw
(C) &=
(D)WW

T T R e 99 § *shiaee)’ e
e freAfafed /i @ ot s s o

(A) (a) T (b)
(B) (b) W (c)
© @ ()
(D) (b) T (d)

st & s1ei wbniea ) Frafafea § @
g =18 9§ geprr ST o ?

(A) HwfagH
(B) STRYYH
(€ T

(D) =¥-%9s
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To which of the following Sufi ‘silsilah’
(school) Shah Waliullah belonged ?

(A) Chishtiya

(B) Suharavardi

(C) Nagshabandi

(D) CQadiriya

Araeco-Buddhist Sculpture is a name
applied to the

(A) Maurya School

(B) Gandhara School

(C) Nalanda School

(D) Greek School

Following  officer was called
Amir-i-Akhur :

(A) Chief of stables

(B) Chief of elephant army

(C) Chief of infantry

(D) Chief of justice department

Who had expressed the view the British
Economic policy in India is loathsome ?
(A) B.G.Tilak

(B) Dada Bhai Naoroji

(€) Karl Marx

(D) Adam Smith

Imperialism was originated in :
(A) 16t century
(B) 17t century
(C) 18th century
(D) 19t century

e Feliseane ffated 3 @ foa @t
‘Taafaer’ (faamam) € defua 972

(A) fafeaa

(B) HETE

(C) -TRrEE]

(D) wwifsRa

SR Ffderen T TH B FSwen Hay
g

(A) W e 9

(B) YR Vet @

(C) e et |

(D) ik Feft |

ITHR-T- TR, Tr=fafed &1 #ad & :

(A) STERIE 61 TS
(B) =& &1 I reAy
(€) U@ I =1 eremy
(D) = faum =1 Teas

Tore g foar = fonan <1 ol & farfewt
anifefeR Hifa &2

(A) ST fieren

(B) TR ARSI

(C) et

(D) weH oy

GRARETE 3l 3THE g7l o
(A) 16 w3t ¥
(B) 17 &t ¥
(C) 1874 wdi ¥
(D) 19 &t ¥
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10.

11.

12.

Dams constructed for storage of water in
Harappan Civilization is known as :

(A) Ranibhands
(B) Gabarbhands
(C) Midabhands
(D) Waterbhands

‘Agoranomoi’ were the Maurya officials
who supervised ?

(A) Famine relief

(B) Construction of royal palace

(C) Collection of land tax

(D) Irrigation and road Construction

Which of the following is the largest
Mesolithic site in India?

(A) Bagor

(B) Hirpur’

(C) Adamgarh

(D) Jalgarh

“The most immediate and unexpected
by-product of Alexander’s invasion of the
north-west was that it hastened the
Mauryan conquest of the whole country”.
Who of the following historian has made
this comment ?

(A) D.P. Chattopadhyaya
(B) D.D. Kosambi

(C) V.A.Smith

(D) Romila \Thapar

9.

10.

11.

12.

BT WAl § ST SR & 399 9 ffifq
Y < el ST o :

(A) THEIIE

(B) TeRHIE

(C) fHrwie

(D) aHE

A A SR & et @M e

(A) 3TRTSl T&d FRT T G-I BT
(B) ¥l HE 1 Fraior e

(C) ot = =@ e

(D) T oIk wew fmin wwn

9ya ¥ frfafed & 9 S e wg
HEAUTSIO I T &2

(A) R

(B) WX

(C) STHTE

(D) wierTTE

" STeSTEt R S-S ¥ STHHO
a9 ¥ s swifaa qiomm I% o i s
YUl U i AW fasr A it o femen?
Frefafad § 9 fog sfemer 3 98 fooyoft
HIR?

(A) 2. T
(B) <ErLEl. HEwE
(C) =hu fmg

(D) fHe o
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13.

Who of the following Kushana King
issued gold coins for the first time in
India ?

(A) Vima Kadphises

(B) Kujula Kadphises
(C©) Kanishka I -
(D) Huvishka

Which of the following statement is not
true about the social structure of Deccan
under the Satavahanas ? .
(A) Rulers prefixed names of their

mothers rather than of their fathers.

(B) People were known by their
~ occupations rather than castes.
(C)V Society was segmented on the lines

prescribed by the ‘Dharmashastras’.
(D) Foreigners or ‘yavanas’ were
accepted as members of society.

The following dynasties emerged in India
from 8% to 12th century as independent

powers.

(a) Cholas

(b) Kalachuris
(c) Polas.

(d) Chalukyas of Kalyani

Select the answer showing their
sequence :

(A) () (@), (@), ®)

(B) (). (b), (), (d)

© © ®) (@) @

13.

14.

15.

Trfafaa § 9 fora oo e 7 vRa o
HEAYYH ol gETd SR i ?

A) fam wesfraw
(B) T wHelhrud
(C) =it guH
(D) gfah

HIAATEH o STE TR & QIS 39 &

Hey o fr=fafas § 9 i s 9 7@

¥? ,

(A) g qq fuaell & T W s
Tl % AW 379 A % ST % ®Y
4 e 9 |

(B) I STU STl o SIS 379 SaEEl
GRS S At

(C) ‘udwre’ grr Fruifa frai gro wws
fawifsa ani

(D) Torzh 3tern ‘gaq’ WA % W ¥
w9 H Wi 91

8 off W 12 & viaTsd! q% WRa H wad wiferal
& &g 4 fefafaa Tsee &1 wigyie gom |

(a) =

(b) FegR

(c) T

(d) FEEl % wIgH

SR SHH SUH aTel SR ghE

(4) (© @ (@, ®)
(B) () (b), (a), (d)
©) © (), () @
(D) (© @), (®) @

(D) (9, (a), (b), (d)
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16. " Which one of the following pair is " 16. fefafea i s wgm ad §2

correct ?
(A) Rock Shelter - Bhimbetka INBRER - CIECEED)
(B) Painted Grey ware - Sirpur B) fafm ym e - gL
(©) Neolithic tools - Nagda (C) Eq™E YR - AT

- Besnagar (D) <Aty - AHTR

(D) Copper hoard

17. Which one of the following pair is  17. Tifera & Q@ 1 W = @& §?

correct ?

(A) First Buddhist - 'Ashoka (A) TG AT - owEw

+ 0 Council

(B) Second Buddhist - Kalashoka (B) fdita g wifa - FHIARE

- Council

(C) Third Buddhist - Kanishka (C) TasSgdEmfa -  ww
Council

(D) Fourth Buddhist - Ajatashatru (D) =g dis Sffa - S ICNE

Council

18. Which of the following was the busiest 18. FwU g0 H Fr=ifera wi-w1 =i Anl

trade routes during the age of the &I 917
Kushanas ?

(A) Ujjain to Mathura (A) IS99 9ga

(B) Purushapura to Mathura (B) U | AU
(C) Mathura to Taxila (C) \YT & qafren
(D) furushapura to Taxila (D) YeUR 9 qeifiren

SPACE FOR ROUGH WORK / T% &1 & ferl wrig
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19.

20.

Determine the correct Historical sequence
of the South Indian History from the
following :

(a) Megalithic Culture

(b) Sangam Age

() Mauryan rule

(d) Pallava rule

Select your answer from the code given
below :

(A) (9 (@) () ()

B) (@), (b), ©),

© (@, ®) @, ©

D) (®), (0 (), (d)

Match List - I with List - II and select the

correct answer from the codes given

below :
List - I List - II
(Sufi (Meaning)
terminology)
(a) Futuh @) Sufi musical
gathering
(b) Sama (i) Conversations of
Sufi Saints
(c) Barkat  (iii) Unasked for
charity

(d) Malfuz  (iv) Spiritual grace

acquired by a Sufi

Codes :

@@ (b)) (0 (d)
(A) @ @) (@) (@)
(B) @) () (v) (@)
Q€ (@) @@ @ @)
(D) @v) (@) @) @)

19.

20.

fr=ifera o @ <faor wRa & sfaere = W
et wewrd fFuifa S .

)
(B) @, (), () (d)
©) (@), ®) @) (

)
(D) (), (©). (@), (d)
R - I =R - 11§ gafea Fife ok =

feu T 2 § & W& W F T Hif
e - 1 e - 11
(gwt (3ef)
yrsgTae )
(@) HE () @ A g
(b) | (i) Y ol o STty
(c) THd (it) Tf=sF qH
(d) "@ES  (iv) TN AN
sTemfeash S
E T

@ () (© (@
(A4 @) @) @ @)
(B) @) @ @) @@
©) (@) @@ @ W)
(D) (v) @) @ @
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21.

22.

23.

Which language was used in the Court  21.

of the Mughals ?
(A) Persian

(B) Arabic

(C) Urdu

(D) Turki

Who was the last Mughal Emperor ? 22.

(A) Shah Alam II

(B) Bahadur Shah II
(C©) Muhammad Shah
(D) Alamgir II

Consider the following statements : 23.

(@) Shivaji could check the Deccan
power from Intruding into his
Swaraj territory.

(b) He could plunder Surat in 1664.

(c) He could withstand the attacks of
Shaista Khan and Mirza Raja Jai
Singh.

(d) Bijapur and Golkunda were
annexed by the Mughals to
undermine the position of Shivaji.

Which of the above statements are not

correct ? Select the correct answer from

the codes given below :

Codes :

(A) (a) and (o)
(B) (a) and (d)
(©) (b) and (q)
(D) (c) and (d)

TS SRER H fore AT 1 FE e or?

(A) e
(B) el
© =

(D) T

I TSI T SHTH A I o912
(A) W e fgdta

(B) eI wiE fgdta

(C) HEHIWR

(D) TR T

frafafea werl ® foer wifag
(a) Teramsht = oo & H qEwa w1 wfwAl
I gie H FEfa fear

(b) IR 1664 § YA F |
() = g @ iR it wen s
% SHATI 1 THSTATISh FHAT R |

(d) fTerarsit =t Al B FAT FE F W
B el 3 SfeTgL O TieTne g
T ¥ faerg fean

IS § F B Y Y g T g1 S

M F2 § W& W H T HIY ¢

C TR

A) @ ()
(B) () T (d)
© ®W ()
D) (© ()

SPACE FOR ROUGH WORK / T% &1d & fod srre
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24.

25.

Pre-Mughal Paintings betray influences
of :

(A) Central Asian and Christian

- paintings

(B) Jain illustrated manuscripts

‘ _ (C) Gujarat school paintings

(D) (B) and (C) above

Match List - I with List - II to correctly
link regions with Bhakti Saints :

List - I List - II
(a) Namadeva (i) Bengal and
Orissa
(b) Chaitanya (i) Gujarat

(c) Sankardeva (iii) Maharashtra

(d) Narasimha (iv) Assam

Mehta
Codes :

@ ® (@ (@
(A) @) @@ @) @
(B) @) @ @) ()
© @) @) O @)
D) @ @v) @ )

24.

25.

qrer-qd ferehen # foraan wwiE 1 v
q1?

(A) |&g R TE 3O faseRen

(B) I &k foemr

(C) TR it Fasaham
(D) (B) 3R (C) w

et - 1% wfed ol 1 gElt - Hd ST

FHEEE ¥ wd faam S :

Tt - 1 el - 11
(a) -ERE @ s ma et
(b) A= (i) TR
() ¥R (i) FRRTSE
(d) Ridgvgar (iv) oTg"
He

© @ @) @ @)
O) & Gv) @ )

SPACE FOR ROUGH WORK / W& &idl & fe @ w/mg - o e o
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YR

26. Assertion (A) :

i (B)

27.

Reason (R) :

(4)

©"

(D)

The Chola
granted autonomous

kings

powers to the village
assemblies to eliminate
completely the power of
the feudatory chiefs.

Cholas alone were able
~ their
to a

to ignore
feudatories
significant extent.

Both (A) and (R) are true but (R) is

. mot the correct explanation of (A)

Both (A) and (R) are true but (R) is
the correct explanation of (A)

(A) is false but (R) is true

(A) is true but (R) is false

Match the leaders with their
mOngents:

@
®).

(©)

(d)

Mahar

movement

Ganganarayan (i)
Alluri Sitaram Bhumij
revolt
Santhal
Hool
Gunda
Rampa

Raju

Sidoo and
Kanhoo

B.R. Ambedkar

movement

Code :

(A)

®)
©)

. (D).

©
)
@)
@)
(i)

(d)
@
@)
@
(iv)

@
(@)
@)

a).

26.

27.

AR (A) :

T (R) :

(A)

(B)

©
(D)

<t Temsil ¥ SiRERl St
v # 7ol w9 § gEw
T o e o qeaesti &t
T v geH Ty

e wE A ST e
T Tk SR LA | e
Of

(A) 7 (R) S W& § 9 (R), (A)
T TE AT T g

(A) T (R) BT WEl § SR (R), (A)
T = T

(A) T R (R) TEt §1

(A) TE 9 (R) e B

frfafaa At %1 7% AiceHt |

ﬁWﬂS’Q:
(@) TR () HR 3fEe
(b) oToql WaRE (i) 9 oS
]
(0 fTogesmwrg (i) WU
(d) SR SRR (iv) TSI
SIEGE
e
(@ () (o) (9
(A) (D) () @) @
(B) @) (@v) @) @
Q) @) @) @Gv) @
(D) @ @) @) (@)

SPACE FOR ROUGH WORK / 1% &T¥ & &9 W 1g

0128/ TFU-HIS/ELG-II

11



28.

29.

30.

The leader of the Guild was known as : 28.

(A)
(B)
©)
(D)

The problem of the origin of Sati and its 29.

Jetthaka
Visti
Sita

Kupya

continuity is closely linked with the :

()
(b)

(c)
(A)
(B)
©)
(D)

Colonial Calcutta came to be formed with 30.

history of marriage system

history of marriage and family
system

history of the legal system
{a) and (b) are correct
only (a) is correct

only (b) is correct

None of the above is correct

the following villages :

(@)
(b)
(©)
(A)
(B)
©)
(D)

Calcutta

Sutanuti

Govindapur

(a) only

(b) only

(a), (b) and (c) are correct

None of the above

firee 3 1 Feem 2 -
(A) vEF
(B) forsit
(©)
(D) %=

W % e BIa T g iR gt

¥ O g9y
(a) efew Tgfa it faRor @ ¥

(b) Senfew iR wiftenfier ugfa & foaewor
g

(c) S AT F faarm @ )
(A) (a) ¥R (b) W §
(B) 9 (a) W ®
(C) Foa (b) T ¥
(D) Sudw =8 off wdt 7 &

Sraf1afiren Herertl 1 737 3 Tiie Y et
Tora = o :

(a) HoreRE
(b)  FarLd

(0 MR

(A) HTA (2) TH T

(B) o (b) Wl ¥

© (@), (b) AR () T E
(D) 9 *rE off 7

'SPACE FOR ROUGH WORK / T% &Td & {3 s e
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31.

32.

Which of the foillowing is not true in
connection with colonial policy on export
of raw materials and food grain, from
India to Britain ?

(A) It brought enormous profits to

unscrupulous businessman

It laid the foundation of future

(B)

agricultural shortages and famines

It raised the prices of raw materials

©

(D) It drained off the country of her

agricultural surplus.

In which of the following ways the
Peasant and Adivasi uprisings of early
colonial period have not been hitherto
visualised by historians with specific

emphasis :

(A) Uprisings seen as problems of law

and order

(B) That uprisings displayed clear
awareness of relations of power in
rural society and determined to
overthrow that structure of

authority.

(C) Rebels potrayed on primitive
savages resisting civilization
(D) Uprisings projected as the

pre-history of modern nationalism.

31.

32.

R 9 e =1 Frafa =) 9 et = 1
AR wEE 9w e srafrafie fafa ifa &
oy § o TE TE § 2

(A) TIF HRU ATAF SAEEFE H
sTafyer oy e

TG HRU AT FY IAET F A
G Ca il C R R il

THEH HRO F T H HEd H GG
EERSu

T HRU FY IR W ¥ W
AR Fehe T

frfafaa fore 9 9, onft sufafies =
¥ foram wd snfeard fase = sfae #Ri A
3T T 18 Hexd e W foar =@l fean?

(A) ToEIE =l A e hi THET TH
T

forgie = um v § wifen dey &)
SITESHT o SN ST o Hereaey
39 TR 819 F SETs HEHd &
Heney feran

(B)

faRifed = wyaar &1 oy w9 99
afifey 219« el T

forgie =i Ny Tegae 1 g -giaer
& w9 § g foran

©

(D)

SPACE FOR ROUGH WORK / T® &1d & o s
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-0-33:

34.

During the 2nd stage of colonization,

. India was transformed into :

(A) A source of raw materials for
exports

(B) An open market for British
manufactured goods

(C) None of the above

(D) Both (A) and (B) above

Which of the following can’t be treated
as a fundamental difference between the
Politics of nationalists and politics of
communalists ?

(A) Nationalits were basically Hindus;
Communalists were

Muslims.

mostly

(B) Nationalists were involved in the
Political struggle against the alien
government while communalists
sought the support and favour of
the foreign govt.

(€) Nationalists were mostly anti-
British while communalists were

Pro-British.

(D) (A) and (C) above

33.

34.

SARAvEE % T TR0 H YR Y S

Il .

(A) Frafa % forg = At o B A
(B) fafem fafHa orgedl =1 ww gen 9=R
(C) W= § = oft T

(D) (A) @1 (B) Al

frafafea § 9 69, Tea T el
AFEEIETE TSI o9 Ja SR % &9
T @ T S et ?

(A) UsgEEl o €9 €@ fgg 9w
WA Al Teid 9|

(B) Trganat faceh T % faeg wrifasw
S 8 W® U Saifer aryergar faesh
HAYrt ¥ gHe U § @9 g 9

(€) rgarst fafew fatiet 9 wafw
gryRTEeTe fifew qerer 9

(D). (A) = (C) Il

SPACE FOR ROUGH WORK / 1% & & o s
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i3l

36.

37

The fiscal measures adopted by

Aurangzeb which seem to have proved
quite disastrous was/were :

(A) Throwing out Hindu officials from
Revenue Department

(B) Re-imposition of Jeziyah

(C) Imposition of discrimatory custom
duties on Hindus and Muslim
merchants (1665)

(D) Both (B) and (C) above

Where was the first Jute mill established
in India ?

(A) Calcutta
(B) Madras
(C) Bombay

(D) Bengal

Which of the following was not a
consequence of the British Land Revenue:
policy India ?

A) Increasing impoverishment of the
g 1mp
peasant

(B) Growing peasant Indebtedness
(C) The spread of landloridism

(D) The ruin artisan industries

35.

36.

37.

ST R TsteRie & et o foran o wen
HIE TURAY! o7 | HSH 1 AT/ 9 ?

(A) T faum & feg sifuemfia =0t gem
(B) IfSrn sl g AR T
©) feg 9o i IR W SgwE ol

e gesh ST (1665) |

(D) (B) @ (C) Bt

A ¥ w2 foe wel enfa s

(A) el
(B) W=
(C) =

(D) e

Trefafaa # ®F @ 9Ra 7 F0S &)
+J-TSTEd A T RO 7@l &2

(A) Toraml = sredt g8 e

(B) ToREMI W @l g3 ROTUR
(C) iRl = forsr
(D) TEIfred I w1 T

SPACE FOR ROUGH WORK / % &/ & fol wig
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38.

39.

40,

41.

In 19t century in India in which sector 38.

capital investment was made on profit
guarantee scheme ?

(A) Railway construction industry.
(B) Irrigation projects

(C) Paber industry

(D) Mining industry

After obtaining Independence India 39.

adopted following Economic policy :
(A) Capitalist

(B) Socialist

(C) Mixed

(D) De-centralized

In the first five year plan main focus was  40.

put on :

(A) Industrialization

(B) Agricultural development
(C) Foreign policy

(D) National security

What was the main cause for the 41.

downfall of the feudalism ?
(A) Urbanization

(B) Development of property
(C) Labours

(D) None of the above

19 of vt § e ¥ o 8 9 I
et @ TREA Ao & STl gem ?

(A) & frmfo e
(B) To=rE wfEsm
(C) TR =M

(D) @EA &N

Tereldl o ¥ WA | Fefaraa steferasen
TS

(A) YS! stefeeeen

(B) HHISETE! Srefezaeen

(C) Tufga srefsgereen

(D) fas=lipa srefeareen

I YEey T Ao | fefeiad s ae fodny
@TWW 3

(A) ST
(B) Py fawm
(C) faceh =R
(D) TS e

HHTSS & T 1 &I HRIT o :

(A) TR

(B) Hufd I forerry
(C) gfv=

(D) ST FIE T

SPACE FOR ROUGH WORK / T% &g & o s e
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42,

43.

44.

Match List - I with List - IT and select the 42,

correct answer from the codes given

below :
List -1 List - II

(Kingdom) (Capital)
(a) Kosala (i) Sravasti
() Gomdhara (i) Taxila
(c) Surasena (i) Mathura
(d) Vatsa (iv) Kausambi

~ Codes : |

@ @® (© (@
(A) @ @ @ (@)
(B) () (v) (@) @)
© @ @) @) @
D) @(v) @) @ @)

Which one of the following Harappan = 43.

sites is not located in Gujarat ?
(A) Sarkotada

(B) Lothal

(C) Satkagendor

(D) Desalpur

Which one of the following was the 44.

largest burnt-brick structure built in the
entire range of the Harappan culture ?

(A) The Great Bath
(B) Granary

(C) Assembly Hall
(D) Lothal Dockyard

R - 19 R - 119 et shifste qen f

Fe | FE IW F T HIC ;
T - 1 qé”‘r-n
(T=T) (TS )
(a) HIEA () wEEt
(b) THER @) aerEien
(c) T&H (i) =YW
d) 9 (iv) wrEist
e

(A @ @ @) @)
B) @) @) @) (@
© @) @ @) O

D) @) @ @ @)

freferfaa o 9 i W T e o0 4
T e?

(A) WREHTrET

(B) <lud

(C) WaH=t

(D) fewersR

T et fret H § qof w9 | e €6
q e 9oQ =1 SR S w1 a1 ?

(A) faeme HAFR
(B) UFINR
€ W[
(D) ehee &l et

SPACE FOR ROUGH WORK / % & & f&@ e
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45.

46.

47.

“The Brahmana is dependent on the king
and takes a lower seat by his side, but he
is superior to the king”. This is mentioned
in which one of the following text ?

(A) Satapatha

(B) Aitareya Brahmana
(C) Kataka Sambhita

(D) Taittariya Upanishad

The archaeological culture associated
with the later vedic texts is known as :

(A) Ochre-coloured pottery

(B) Black and Red ware

(C) Painted Grey ware

(D) Northern Black polished ware

Which of the following statement is not
true about the disintegration of the
Mauryan Empire ?

(A) Quick succession of rulers after
Asoka weakened the imperial
control over administration.

(B) Asoka’s policy of ‘Dhamma’.
weakened the military strength of
the empire.

(C) The empire was too large to be
controlled by Asoka’s successors.

(D) Invasions of neighbouring

kingdoms disintegrated the

Mauryan Empire.

45.

46.

47.

ST TR ST STRIeT Teh & Se § TeTiel
QA ol T W 3 ¥, W 9 TS @
IR a1 7' I8 frg = H SeaifEa B2

(A) 9™
(B) TeRira sEron
(C) heek digam
(D) dwE 3R

IR A TS | TreIg, e Fhid 1
BT SR ?

(A) Tl BT H U

(B) Tt IR I T
(©  yqu fafyd ws

(D) St aftwd el g

o e % A % ey § frefataa § Q
FHITE YT T T 27

(A) 3% & UTEI IMEE] & Afld
ISR 7 IO R AR
[EREMETE TR o

(B) 3TNk ! ' Hifa = wrow =t Afe
IR FHHSIR T |

(C) T a1 fawqa o1 T i &
IRy it 7 o g |

(D) U T % ArREvl A WY wwe
=1 foraifea #= feami

SPACE FOR ROUGH WORK / T && & f&d g
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48.

49.

"The following epics were composed

during the Sangam Age :
(a) Maduraikanji

(b Silappadikaram

() Mullaipattu

(d) Manimekhlai

Select the correct answer :

(A) (a) and (b)

(B) (b) and ()
(©) (a) and ()

(D) (b)and (d)

Which of the following statement is true
about the origin and development of
feudalism in early medieval India ?

were

(A) The
proprietary rights over their

peasants given

agricultural lands.

(B) The kings made land grants to their
ministers, warriors, kinsmen and
brahmans.

(C) The successors of kings divided
kingdoms among themselves.

(D) Forcible possession of land by
moneylenders created a class of
intermediaries.

48.

49.

(0 HEIwg
(d) wfEER
& W A
(A) (a) T (b)
B ()
© @W()
(D) (b) T (d)

i -HehTE WRd § GETEE % 3 T
forerra % gayg o Frefefaa § & S &0
A §?

(A) FR I ITH F YH T i &
sty f&d )

(B) Tiedl W ofa Wi, dfveni, Wit
e sirerel <l fie & |

(C) Tl o SUfHeRIftdl A Tl 1 ad
¥ sife feran

(D) WRERI g werq iy e 4
foreiferl & e ol o1 Sed e |
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50. Match List - 1 (Local dynasties of early. = 50. H=T - 1 (I8 AeaahTei+ 9_a & w9 -

* medieval India) with List - 2 (Capitals) TE) w1 G - 2 (InfrE) | gafe
List - 1 List-2 gt - 1 gt - 2
(a) Paramaras (i) Tripuri (a) TER TSEA G Bed
(b) Kalachuris (i) Ajmer (b) FEGRTEAA () IR
(c) Gahadavalas (i) Dhara () TRSH TSEw (m) TR
(d) Chauhans (iv) Kanauj (d) SeRTSET () e
Select the correct code : = - : & w5 g
@ () () (d) @@ (b (o) (d)
(A) @) @) @) @ (A) @) @) () ()
B @) @) (O " (B) (@) (@v) @ ()
© @@ @ @) (@) © G @ @v) (@)
(D) @) @ @ () (D) (i) @) @ @)
51. Match the following : 51. frfafed 1 ey :
(@) Ashtadhyayi (i) Ashavaghosha (a) STE3eATH @ ey
(b) Natya Shastra (i) Panini (b) A WA (i) o
(c) Harsha Charita (iii) Bharat Muni () wi=Ra (i) wRa A
(d) Buddha Charita (iv) Bana Bhatt (d) s aRa (iv) ST g
Code : e :
@@ (b) () (d) @ (b)) (o (@)
(A) G @ @) @) (A) @ @ @) (@)
(B) @) @) @v) (@) (B) (@) @) Gv) ()
© i) @) @ @@ © @) @) O @)
(D) (@) @) @ () D) @v) @@ @ @) -

SPACE FOR ROUGH WORK / T% &8 & forr g
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52.

53.

54.

“Decay is inherent in all componentbeing  52.
' ‘work out your own salvation with

diligence” these words are attributed to :

(A) Krishna
(B)‘. Mahavira
(C) .. The Buddha

(D) Sankaracharya

The Gupta Empire was divided into : 53.

(A) Vishayas
(B) Bhuktas
(C) Mandalas

(D) Gramas

Ala-ud-din Khilji annexed the territories 54.

of the :

(A) Yaduava
(B) Kakatiyas
(C) Hoyasalas

(D) Pandyas

Yo 3T WOR % ER Se-wad B sfafifea,
B ? ol ug w1y wHSA % WY 99 &

@y ¥ Ay ¥ fon Friat s wa e 3
g fopem FR1 R ?

(a) F
(B) TR
© TS
(D)

T wrHed fatsia o
(A) fommdi |
(B) uwiH
(C) weadl ¥
(D) U H

e faest ¥ fhds -9 W A
STfege S

(A) I ®

(B) eIl %
(C) e %
(D) UUEH %

SPACE FOR ROUGH WORK / T &rd & fad e
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55.

56.

Match the dynasties with kingdoms they
ruled over :

(@) Yadavas (i) Warangal
(b) Kakatiyas (i) Dwar Samudra
(c) Hoyasalas (iii) Madura
(d) Pandyas (iv) Devagiri
Codes :

@ B © (@
B 6O @ @ G
® ) O @ @
© ) @ 6 )

D) O (@v) @) @)

The following are the temples of Dravida
style constructed between 10th and 13th
centuries :

(a) Brihadishwar Temple
(b) Nataraj Temple
() Meenakshi Temple

(d) Srirangam Temple

Select the correct answer :

(A) (a), (b) and ()
(B)  (b), (c) and (d)
(©) (@), (b) and (d)
(D) (@), (¢) and (d)

55.

56.

=1 ToEe ) 7% g it & @ e
W:
(a) HmEEn (i) =TS
(b) FEfA (i) BN ER
() wEwem (i) WgU
(d) uvEm (i) wWhH
E&X
@ () (g (d)
(A) O @) @G ()
B ) O @ ()
© @v) @ @ (i
D) O Gv) @) ()
T ¥ et wﬁ%aﬁaﬁﬁﬁaﬁgm
% Frefafas wfem €
(a) TSR HfET
(b) TS HfET
(c) wiaft |
(d) SR AR
& SR g

(A) (@), (b) T (0)
(B) (b), () Wi (d)
©) (a), (b) T (d)
(D) (), () W (d)

SPACE FOR ROUGH WORK / TF &1 & fordr sie
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57. ~Aihole inscription belongs to :

58.

59.

(A) PulkesinII
(B) Samudragupta
(C) Mahendra

(D) Ugrasenna

The Dasavatara temple of Devgarh
belonged to : -

(A) Gupta Period
(B) Vakataka Age
(C) Chalukya Dynasty

(D) Chauhan Dynasty

The Qutubashahi kingdom of Golconda
was known all over the world for its :

(a) Textiles

(b) Diamonds

() Gold and Sandal Wood
(d) Spices

Identify the correct answer :
(A (®), (@, ()

(B) (@), () () (@)

© (), (b)

(D) (), (b), ()

57.

58.

59.

e e forg s § wEied 82
(A) JoHH I

(B) XD

(€ W=

(D) S

aTg 1 TUEAR HiT e wwfid 872

(A) TaH
(B) ARE T
(C) =TT TS
(D) e U -

MeAHel ®1 Fgaumel o frd wRo favd
s a?

(a) T

(b) E

(c) W | HET
(d) TEwEl

HE IR S :

(A) (b), (9) (d)

(B) (@, ®) (©) ()
© (. ®

(D) (@), (), ()

SPACE FOR ROUGH WORK / % @Td & fe& sig
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60.

61.

Diwan-i-Kohi  the
agriculture, was specifically created by

department of

- Muhmed Bin Tuglaq to :

(a) bring uncultivated land under
cultivation through direct State
financial support and patronage.

(b) introduce state promoted irrigation.

(c) improve irrigation and introduce
superior crops.

(d) to improve the condition of the
peasantry with top-priority.

Select the correct answer :

(4) (@, (), (d)

(B) (a)(®)

(© ®), @
D) @), ®) () @

Assertion (A) :

The Igta system helped considerably in
establishing Islam in North India.
Reasoning (R) :

The Sultans, through the institution,
wanted to control the Turkish Nobles.

Given these statements, which one of the
following is correct :

(A) Both (A) and (R) are true, and (R)

is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

60.

61.

aM-3-wE, S 9 Heifuag faum favm 9k
R YeHe-for-gireres A :

() T & Teas foeiia Temm 991 9 &

<@ @ H rpiua yf # i yfh &
Hqeo & o nfed foran

(b) T % G W FHaE =aee sy w3
% fag feq feman

(c) T =rawen = gge HO a9 5w
YR & feaw nfeq feran

(d) mefear % IR R fHE Y m ga
% forg nifea fepan

TE W ?\[ﬁﬁ .

(A) (a), (b), (d)

(B) (a), (b)

©) (b)) ()

(D) (@), (b), (©), (d)

AT (A)

I 9T H S T HE § o111 9401
1 98 91 T T

®HRT (R) :

TH HEA % WeEH § Yoar 7 T ATl
G TE5T07 ST =Rt |

T FUA % W@ W = A @ gf

(A) (A) T (R) S 6T § TAT(R), (A) HI
T =

(B) (A) T (R) M & € W (R), (A)
I T T T §

Q) (A) ¥ § I (R) 379 ©|

(D) (A) ¥FE § Y (R) 94 &1

SPACE FOR ROUGH WORK / T% @ & fa& s
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62. Consider the correct matching of foreign
visitors (List - II) with the rulers of
Vijayanagar whose correctly they visited
with the help of the codes given below :
List-I List - II

(a) Devaraya I (i) Nicolo Conti
(b) Devaraya II (i) Abdur Razzaq
(c) Krishnadeva  (iii) Domingo Paes
Raya
(d) Achutadeva (iv) Duarte Barbodh
Raya
(v)  Fernao Nuniz
Code :
(a) (b) () (d)
(A) @ @ (i) & (i) (v)
(B) (@) @ (@) (iv) & (v)
© &) @ () (i)
(D) (i) (v) ()& @) @

62. e - 19 fooa R & wreen & gelt - I3
& TR IR Toa T o1 foraeft =t o wéd
ﬁwnfr HIFTT a2 11 e § W& S S
et - I et - I

(a) <] () e =
(b) SRR (i) ST TR
(©) FWRE W (i) SifET E-
(d) FATATE () TN Y
(v) Al
Fe
(@) (b) (o) (d)

(A) @ (i) (i) & () (v)

(B) (i) (@) (i) (iv)Te(v)

© @uA@v) @ () (i)

(D) (i) (v) ()T GEv) @

SPACE FOR ROUGH WORK / T% & % ol <8
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63.

64.

Assertion (A) :

Jagirdari crisis emerged owing to the

increase in the number of Jagirdars and

paucity of Jagir lands.
Reason (R) :

Bijapur and Golconda were annexed by
Aurangazeb to solve the crisis.

(A) Both (A) and (R) are true, and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

Assertion (A) :

Aurangzeb’s religious policy marked a

departure from the one followed by
Akbar.

Reason (R) :

He was more pragmatic and benevolent
than Akbar.

(A) Both (A) and (R) are true, and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(©) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

63.

64.

AfUHLT (A) :

SIFTRERT Hehe e 1 R0 o, SR et
%I I T STRGRI %! He | gig |

/AT (R) :

U G T H SR a9 e e
& ! SRS ¥ ergeeh gferar forar on

(A) (A) 7 (R) 39 T ¥ R (R), (A)
i UE e ¥

(B) (A) T (R) < ¥4 § T (R), (A)
ht HEl SR T T

(C) (A) ¥ § T (R) 379 T
(D) (A) 38 & T (R) T B

AR (A) :

Hifa @ sga & fi= ot

T (R) :

9% ITeR § AfYF SeRifics 997 TR
o

(A) (A) T (R) 3 g7 ¥ 3l (R), (A)
T TE AR .

(B) (A) W (R) & ¥ § W (R), (A)
it el = T R

(C) (A) ¥ T TG (R) 310 B
(D) (A) 39 T (R) T ¥

SPACE FOR ROUGH WORK / % &rl & a3 smie
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65. Read the following statements :

() Humayun was defeated by
. Shershah in 1540.

(b) He reconqured Delhi and Agra in
1555.

() He laid the foundation of Mughal

empire after the Second Battle of .

Panipat. . -
Select the correct answer :
(A) (a), (b) and (c) are correct
(B) (a) and (b) are correct
© ) and (c) are correct

(D) (a) and (c) are correct

66. Which of the following statement is true
about Akbar’s policy towards Rajputs ?

(A) Akbar extended his empire after
annexing all Rajput states by force.

(B) He compelled Rajput ‘rajas’ to
accept humiliating treaties.

(C) He enlisted Rajput favour for the
expansion and consolidation of his
empire.

(D) He kept Rajput kingdoms under his
direct control.

67 Who wrote a book named Muntakhab-
ul-Lubab ?

(A) Mohamad Haslim Khafikhan
(B) Abdul Hamid Lahori

(C) Badauni

(D) Abdur-Razzaq

Y

65.

66.

67.

frafafaa wem ufed -
(a) T 1540 H IRME GRI YTSH g2

(b) S| 1555 H fewedt 3R o =l fi
H Sfra fern

(c) fadira ariioa & & & ¥ 99 e
i Esic Rl

‘H‘a’l‘?ﬁl’{ﬁﬁ'&:

(A) (a) () () T T
(B) (a) T (b) W ¥
© O (EQET
(D) (a) W () W& &

frafafad # 9 1 W we 3TheR 1 T

it % deoiy 9 w9 872

(A) STHeR § T TSYd T i o
SR hY ST WA 1 farear fopam |

(B) ST TSI STl ohl STUHTSTeR Wiel
TR 3 7Y A T

(C) 381 JUA WEFE & fawR g

B eCET E A e RIEE GRS RE R
feram)

(D) ST TSUA A1 1 e a7 Fesm
elcc il

g ST- a8 A Gk o foran ?

(A) HreR Tie™ ToEH
(B) 3Tgd THIR TRt
(C) st

(D) I-TH

SPACE FOR ROUGH WORK / 1% &4 & fordl sire
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68.

69.

70.

71.

Under the Jabti Land revenue system
(Mughal Administration) what portion of
the land produce was decided as the
lagaan ?

(A) Half

(B) One-third

(C) One-fourth

(D) One-fifth

In the period of which Mughal emperor,
the maximum number of persian works
were written on Indian classical music ?

(A) Akbar

(B) Jehangir
(C) Shahjahan
(D) Aurangzeb

Which area/areas of the following was
famous for the production of Salt Pebi
(Shora) Indigo and opium together in the
seventeenth century ?

(A) Burhanpur and Sindh

(B) Gujarai

(©) Bengal and Orissa

(D) Bihar

Which Mughal emperor had put a ban
on the use of tobacco ?

(A) Babur

(B) Jahangir
(C) Shahjahan
(D) Aurangzeb

68.

69.

70.

71.

STl YT e (e YRIEE) o .
IfH I % fohae of9 & TFIF & w9 A
Truifta foman sman en?

(A) e
(B) T fmer
(©) her
(D) i e

e el St R waifis mret Hi
%! To1 fore TeT SIS o el | g8 2

(A) TSR
(B) SREIMR

(C) V&S
(D) SR

frafafea o 9 S o 3= woed! A
T W, i iR S%IH % THHY SARA F
foe gfag an/a?

(A) TR T
(B) TS
(C) = TS I
(D) foreR

fore gt smeeR 3 T % wAm 9 g
fema?

(A) S

(B) SRR

(C) VSTl

(D) RTse
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72.

73.

74.

75.

The name of which woman of the Mughal 72,

dynasty was engraved on the coins and
farmans with the ruler ?

(A) Mumtaz Mahal
(B) Noorjahan
(C) Jodha Bai

(D) Marium Ujzamaani

Who was the Governor General of India 73.

when Sind was annexed in 1843 ?
(A) Lord Ellenborough

(B) Lord Auckland

(©) Lord Dalhousie

(D) Lord Maya

Who was responsible for
establishment of college at Fort William
to train young civil servants of India ?

(A) Lord Warren Hastings
(B) Lord Cornwallis

(C) Lord Bentick

(D) Lord Wellesley

Who was the English general who  75.

" defeated count de Lally in the Battle of

Wandiwash fought in 1760 ?
(A) Eyre coote

(B) Forde

(C©) Hamilton

(D) Harris

the 74.

A 59 &t R wfgen &1 W fawnl 3R
T W I & WY 3ifwd T simar en?

(A) TS e
(B) Tl

(C) “henE

(D) #REH IoSHMAT

T 1843 H v fy W ST 7 e o
Te HRA T TG SRA A 12

(A) €€ TEERIE
(B) WIS sffwie

(C) e st

(D) @rE |rn

IR o I fafaer a<a & IR 6 &
Y 4 Qe T B fafaam wias &t
T fomem &Y 2

(A) e a3
(B) <€ widenferd
(C) e dfew
(D) e et

T 1760 F Fam g5 | FEHe S A &
TUE T I S ST hiF 912

(A) wF:
(B) W
(C) wHieA
(D) wf@
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‘Which Aef introduced Dyarchy in the

provinces ?

U (A) 1909 Act

® 1919 Act
O 198 Act..

(D) None of the above

‘Who cr1t1c1sed the Ind1an Act of 1935 as

“we are prov1ded w1th a car, all brakes
and no engine” ;

(A) Jawaharlal Nehru

(B CRDas

(C) M.A. Ansari.

78.

(D) Gandhi

Which of the following was not one of
the reasons explaining for the failure of
the Devozians to build up a popular
movement 2.4 '

(A) They dld not take up peasants
cause.

(B) They ‘did not advocate women’s
r1ghts

- (©) EX1st1ng social condltlon was not

conclusive for the1r ideas to be
appreciated by others.

(D) Lack of maintenance of linkages
with people. . . |

76.

77.

78.

il fo s % oi T
SINERIRIE

(A) TE - 1909

(B) T -1919

(C) TE -1935

(D) 3% § g off 7&

"o HR A < e o o o € g e
78" 1935 Afufem +1 ErE 98 FE W
frem =t ?

(A) TR TEE
(B) E.3R. T

(C) THT, Furt

(D) TiTeft

frafafae 8 ¥ <59 @ T S T8 9 s
SESiAl %GR Tk AR St T =l
UM ! AT HE 82

(A) SR TRyl ot Fre o ey 78 S

(B) o mfisen aTfemal <kt el T v

(C) S§ T 9 Tl Emld‘{lﬁf g =t
I ool o1 g & gy &t
STRT

(D) V91 § h IR @A H 9 e
T 9
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79
(4)
(B)

©
(D)

80.

Laissez Faire Policy of the British in India
aimed at :

Establishing monopoly of East India
Company on Indian trade.

Removing all restrictions on the
export of Indian handicrafts.

Exporting of British capital to India.

Removing all restrictions on the
export of Indian raw materials to
England and on the import of British
manufactured goods into India.

What is the historical order of the

following social events in the British

period ?

(@)

(b)

(c)
(d)
)

Prohibition of human sacrifice.
Prohibition of Sati.

Prohibition of female infanticide.
Passage of Native Marriage Act.

Passage of Widow Remarriage Act.

. Codes :

(A)
®
©)

“ (D)

(®), (d), (@), (), (e)

© @ ), @, @

(@), (b), (), (e), (d)
(), (©); @), (e), (d)

79

e 3 S A e A (e

) T AT

(4)

(B)

©

(D)

80.

mewmmw
THIYwR nfya &

T e ¥ W wh v
T

e H ffew $oft oy

WA QT A % Frata o e fafem
Sefen aegell W WA H ST W
o et gl = ger

fofew w1 & Frefated QS S

=1 e wH Fn 8 ?

(a)
(b)
c)
(d)
)

(A).

(B)
©

(D)

e Sferer T e |

Tt g WA | .
Wﬁrﬂmmﬁm

2ht forae i ufE ST

®), @, @), @) ()
©) @), ®), @, @
(@), (), (), (&), (d)
(), (@), @), (), (@)
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81.

82.

83.

Who claimed that “any scientific theory  81.

or principle which is thought to be of
modern origin may be proved to be set
forth in the Vedas” ?

(A) Keshavachandra Sen

(B) Ramakrishna Paramahamsa
(C) Dayananda Saraswathi

(D) Vivekananda

Which one of the following is correctly  82.

matched ?

(A) Hunter Commission-Secondary
education

(B) Raleigh Commission-University
education

(C) Wood’s
education

Despatch-Primary

(D) Sadler Commission-Rejection of
filtration theory

Put the following events of the 1940s in 83.

correct chronological sequence :
(@) The Direct Action Day

(b) RIN Mutiny

(c) INA Trial

(d) Cabinet Mission

Codes :

@) (@ © 0) @

(B) (@), (b) (c) (d)

© (© @) (@), ()

D) (©) (), (@), (d)

I fpam wa1 for =8 o St fasia
e Trem o fovg o o s € &
RIS o1 & S % fewre | T TR
¢ o 93 # v5@ a=i § fas fran s v
??

(A) FHuEER

(B) M THEH

(C) TIF< Tl

) BREEETEE

e & & 9w wd gafea 872

(A) & wHieE-Heatas e
(B) it wHieH-favatamrea fen
(C) gu fewra-mufhes fan

(D) ¥R HHvH-freesm fagia =t
et

1940 % <9 % Frefafea sesil = w&
THICTehy | =afeerd i
(@) R TwEAT

(b) STRIETH I

() RTLT TEA

(d) ReHE HeA

ETE:

4) (@, © () (@)

(B) (@), (b), (c), (d)

© (© ®) (d), @

D) (0), (®), (@), (d)
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84.

85.

Put the following sessions of the Indian

National Congress into correct

chronological order :

(a) Faizpur Congress

(by Lucknow Congress

(c) Tripuri Congress

(d) Haripura Congress

Codes :

(A) (), (0) (b), (@)

B (@

© @, (@) (©) (b
(

Assertion (A) :

The working class participation in the

Indian nationalist politics of the 1930s

was relatively week.

Reasoning (R) :

The communists believed that Indian

National Movement was a structured

bourgeoisic movement and as essentially

reactionary in character.

Given these statements, which one of the

following is correct ?

Select the correct answer from the codes

given below.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true; but (R) is false

(D) (A) is false, but (R) is true

84.

85.

Frfafen wrda U= w9 & @6 @
W& HETTHA | TR

(a) oI HE T
(b) TGS HIIH A
(0 Frgd =i w
(d) U FEEu
E TR

(A) (@), (), (b), (2)
(B) (@), (b), (), (d)
© (@) (@), (), (b)
(D) (b), (@), (d), ()

ATTFRST (A) :

1930 o T * WRAE Ugarer Afaal §
FHHAR O i G AfE w7 9 9
B T T |

HRUT (R) :

HreEtted % fem § wRde v sieeH
AR 1 STidre o1 IR st arta: =fifiew
w9 9 fafskaras o

fw T =T AR S 9 2
frefafad g @ @& W g .

(A) (A) T (R) S ¥ T 3R (R), (A)
i & = ¥

(B) (A) T (R) T & ¥ Wi (R), (A)
1 GE U T

(C) (A) ¥ ¥ T (R) A B

(D) (A) 379 § W (R) T ¥
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86.

87.

Arrange the rebellions occurred during
the rule of the East India Company in
chronological sequence on the basis of the
following codes :

(A) Orissa Zamindars, Velu Thampi of
Travancore, Bhils of Maharashtra
Bundella Rebellion.

(B) Velu Thampi of Travancore, Bhils
of Maharashtra, Bundella
Rebellion, Orissa Zamindars.

(©) Bundella Rebellio‘n, Orissa
Zamindars, Velu Thampi of

Travancore, Bhils of Maharashtra

(D) Bhils of Maharashtra, Orissa

Zamindars, Bundella Rebellion,
Velu Thampi of Travancore.

The Butler Commission Report (1928)
dealt with :

Select the correct answer :

(A) The Avadh peasant movement

(B) The Rae-Bareilly peasant movement
(©). The Eka-peasant movement

(D) The relations between the states and
the paramount power

86.

87.

fafew $= e For & AwTER H W
fagtel = ffafen g2 & onur
FHIAHATIR A fuifia i

(4) s e SRR A A o
TERTE & ¥ie, seen fage

(B) FEUEHR T o o, TRRTE % i,

(C) e forste, S SaR, SR
A I, HENE % i

(D) wewrg % e, S| WHiSR, e
fogie, auER &1 a9 ot

FeeR HHITA RUIE (1928) T Hely o :

el 3R g

(A) say foram stider

(B) Trsied feram stidem

(C) vw-feem eidem

(D) T SR 9w vifed o oS ey
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88. Whoamong the following Swarajistswere ~ 88. 1920 & T¥I& ® famfafea # 4 fow

popularly known as pro-changers during ST Sl W-SSR el ST o 2
the 1920s ?

(a) Motilal Nehru (a) HdeTe Yew

(b) Kasturi Ranga Iyengar (b) w@ M SRR
() Chittaranjan Das ' () fadtsr am

(d) Hakim Ajmal Khan (d) T A T@H
Select the correct answer : W IW AT

(A) (@), (b) (9) (A) (@, () (©

(B) (), (9, (d) B (®). (), @

©) (@), (9, @) © @ @ @

(D) (@), (b), (d) D) (a), (b), (d)

89. Who were the Barids during the Delhi  89. feoelt Gea-a U Fig A el &41?
Sultanate ?

(A) Craftsmen (A) foredt

(B) Officer-in-charge of State Exchequer (B) T TSRITHT I YA

(C) The spies ©) TE=

(D} Bodyguards of Delhi Sultanate (D) el Head &1 7 W&k
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90.

91.

Read the following statements :

(a) During medieval period Indian
women enjoyed equal status with

men.

(b) The rural society in medieval India
was highly segmented.

(¢©) A major segment of rural

population lived in houses of mud.
Select the correct answer :
(A) (a), (b) and (c) are correct
(B) (a) and (b) are correct
(©) (b) and (c) are correct

(D) (a) and (c) are correct

Read the following statements -

(a) From 2" century B.C. to 3" century
A.D. internal trade of India was
carried on by ‘vaniks’, ‘sresthis” and
‘sarthavahas’.

(b) A good of trade
transaction was the coinage system.

indicator

() There were ‘srenis” or guilds of
craftsmen and merchants in
existence.

Select the correct answer :

(A) (a), (b) and (c) are correct

(B) (a) and (b) are correct

(©) (b) and (c) are correct

(D) (a) and (c) are correct

90.

91.

frafafea wem ufed :

(a) TS § IR w1 Afeand TENl &
TR FIA3T h1 ST Lt off |

(b) HEAHTAH HRA T JHOT TS qoa
@el # fawfsa o

(c) T S 1 T gY@ fewe fagt
ek Resi il '

uﬁwgﬁv}:

(A) (a), (b) T (c) A §

B @TEEWTE

C) BT TE

(D) (a) W (c) & &

frafafea = ufegd -

(a) T awEE] .Y, § e vsa] 3. a9
NG 1 AR SR afvre, Afteal
e wredarel gRI Heferd feRan S o

(b) SAUR &t UK FT TF 71 Hehdh
o e off |

(c) Tafei wd =il st * ot sveran
oy sifcaa § 91

H@‘Wﬁﬁ’a:

(A) (a), (b) T () W &
(B) (a) T (b) W &
© () () TEE
(D) (a) W (c) TR ©

SPACE FOR ROUGH WORK / 7% & & fed sg

0128/ TFU-HIS/ ELG-II



92. Where British officers received training
before coming to India ?

(A) Cambridge University
(B) Oxford University
(©) Herieyburg College

(D) Administrative Academy London

93. Ashwaghosha wrote a dramma :
(A) Meghdutam
(B) Raghuvamsam
(C) Rastrapala

(D) Mrichchhakatikam

94. Chandragupta Maurya ordered to build
a lake named :

(A) Sudarshana
(B) Nainital
(C) Manas Sarovar

(D) Jamuna Lake

92, WRA I | & fofewr sifemfat i gfdeqor
el fean i or?

(A) shftsret fergafersme
(B) SAiwamre favafasmea
©€) ariwie

(D) TRIHIA STHIEH, e

93. STYEENY gRT Wad AeH § :

(©) T

(D) Y=BHfcHA

94. T=@ AW 7 fRw sia & Fmin w1 Ry
feam a2

(C) HHYE |l

(D) ST
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95.

96.

97.

As per D.D. Kosambi the Feudalism from 95.

above means :

(A) Zamindars levied tributes from

cultivators.

(B) Monks levied tributes from

commoners.

(C) .Village headman levied tributes
from villagers.

(D) Powerful king levied tribute from
subordinates.

Fa-Hien a Chinese travellers came to India 96.

through :

(A) Bhutan - Sikkim
(B) Bhutan - Nepal
(C) Burma - Assam

(D) Gopi - Khotan

Abdul Hamid Lahori wrote : 97.

(A) Akbarnama
(B) Badshah-nama
(C) Tohfa-i-Akbar Shahi

(D) Tazkirat-ul-Waqayat

EE. ISt % HAHER SR 9 Haane!
T 4 e e § 2

(A) STHIERI A Fohi T AR &g STel |
(B) WoEIEdl ¥ S WHR G HASH
ElEsC Gl

(C) UM TUE A UHATHE T SIEH
g ST | B

(D) ScEmTe TS X TR e W
SITIEH I S STl |

=T 2T ReaH foRd T | WRd ST ?

(B)  SCME-THI
(C) TEHI-3-3TH WM
(D) TSTehIRIq-Sel- ST
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98. Rani Durgavati opposed the expansionist ~ 98. il et ¥ fores foremand) feh W fordy

policy of : ST ?
(A) Babar (A) 9
(B) Humayun B) T
(C) Akbar (C) FR
(D) Jehangir (D) RER
99. What was the work of Bakshi ? 99. TN BN T FH H §?
(A) Pay master of the forces (A) HeeH T RN FAT
(B) To look after criminal justice (B) AUy A 1w
(C) Justice (C) =1 &1 HH
(D) Postal Service (D) e qa1 H HE
100. Mansabdars classified into : 100. WTHSRR Tfid & :
(A) 13 Grades (A) 133 H
(B) 23 Grades B) 239 H
(C) 33 Grades (C) 330 H
(D) 43 Grades (D) 433 H
-00o0- ~00o0-
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| IR 3ifeRa & T HUT : 2 HeT sifirRad 3 : 200
‘Maximum Marks : 200

Time for marking answers : 2 Hours

e :
1. =9 Y-GRKe § 100 99 § - Yo W9 2 31 1 ¥ Wl weF 7 e tferd B
2. W % S, € T OMR SWR-3e (AW-¥iT) W sifwHa wf

3. T e T

4. T +ff 76 ¥ Fepa 9 @M Tow T HieEe B 1 TE 9 2 |

5, OMRSw-¥e (aie-ie) 1 7 id word At g sramaerit 7 i/ svd foredl 7@ we 5 =
3o e faeee ot Te W R woreed - 9g TS 8 ST |

Note :

1.  This Question Booklet contains 100 questions: All questions are compulsory and carry two
marks each.

2.  Indicate your answers on the OMR Answer-Sheet: provided.
3. No negative marking will be done.
4. Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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